BAXBARE Il EFEBALHELZRAAL AR

#8 2 AHEmAHRTEGILI) ARBM101£28178 % 28
AR EARIEE R By ERATE &4 ¥ I A x2 R
[TRms ER] * AR FABHRE - 2RERB ARSI AEHNREALTRE ! | |

1. BN L4mIRE ¥ M Av 2 & 58 4% & (anchor) %4k » B BN HanchorZ E R EHTHAEER B R
B2 (14%)

2. Assume that the retaining wall shown in the figure below can yield sufficiently to develop an active state.
Determine:

(a) Pressure distribution diagram (including water pressure); (€ %)

(b) Rankine active force per unit length of wall (including water pressure), Note: yw = 62.4 b/ (6%)
(c) Location of the resultant force measured from the bottom of the wall. (& %)
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